BtT #2484 BRHEEL 3-1 bpmKX(2) 324K 107/4/27

E7: 5 JEBR A

1. %a:b=4:5> Ba+b=27>

(1) a=2b=2 (2) (a+3): (b 4)@

A2 £y
e Al o B 248)s 14

zzr;ssrq:z’] = J5e]
=2 15
F=3 20T o
D A=/2 b= 13 4
2. BHx~yBEEY 6%D2x ye= 5 2+ B2x—-p=24 >
PR -~
fly
XY =54 F-4
A XeSr =4y D X=20, Y=1¢
2o+/é=:§é%

. &Zx yAEEHE BAx:y=5:7 Zx,y)+[x,y]=216 »

Kx-~yehfa AV
r+36r=2)(

Vl5r T S A= s
Lﬁ 2 X=30, )=42 4
(X, ))~
35Y
4. ﬁEXyYJS » B(x+5):Q2y—-6)=1:2 > £x+2y="
AN, Y=5Y A
GHOUor-0122 oy 20
2(318)= (lor=4) /21-2;(20
é}"HO:'/O}/“é = &2
=

W 273
B, 7e.-x:—=y:z’;)‘< (x+y):(2x—-3y) 89 ttfE

3
Nyt A X=EF, Y=9r

S (SF+9F):(J6p-2TF)
®AY e,
9<:>)=5>‘1 = 7<) —’%——T )

6. X &AL HFL4 1820 A ﬁq’%i/\%’tm-ﬁ‘ﬁaé’]-— 3

(DB ~ %A A (DB~ kAL HEIVA?

W BRI LIA B 200

_3, ARk =
X=% ~7<?D(/\) |
4(X~ 3>) 240

S AsY=3:+4 4- fg’z&x’%;
> Beg=34 ~/o4o</<)%

T REBATEREABASLANLSE 4.3 BREANIMEF A -
Bk Atg A5 RIRAS - kAL S DAY

SRERAATA. iz&% e

(4HID) 3y=|5+1] 3x[1p=330
r=1lo A 7 3304 _

8. R FRMARELS T2 RENK - FESLAL 1
R e
R~ FREFERKRY?

'i£&¢7r§q Tx b=42
FIE 2 A 2xb =12
(M-2):(2~2)74+|
(il R A28
k:é R _3, [}\/%:(;

9. NNAFNEZEZRHEE 0 BN AFNERRFOSEBILS
514 ZMALET—AR120 tehE » ERBERANSKELL
GH43RNARRET ST

BAERRB SV oo
RE RBAYE e

( 5},“/-2(3): <4l’—/20)::4: 3
)5¥-360=|4r-480

r=(1<0 A 3 é007‘(__\

(04 —sBameanst? RuaFs@g AMTHROM

FHILBT 6 HEPALF 22 84 - é*%fxﬁéﬁﬂmﬁ%
B 510:7 > ?Jﬁimﬁxkﬁlé#ﬁ‘?éx 7) s
BEARE XA i
é)@, )’@ "(’)(«’oy::—.ZOL}'
= = -y ::5>
{%‘<>’-5>=7:é > 498,71
O%22):()-5)=10<]
6X=1)-35
{7%/54:/0?-50 A- 8118
1Y F LR BAT R AR R AR 0 5P AR B

BB R B 3:2 Fo 4:3- X B REBRHERDEAN—EAEZES
b HAEARY R RAIFERART  KELIBAE HEELS

{;‘; S (21420):¢14+1%)
2 "‘»Z , = 2
37 B 19 = 4) 2] 4

T 38 505



12. KEI#h#R ¥ > REfo P Pray @4 —A E3R- RPN F 4
Pd A ABtL A 4 PHEN BASLAEARIAEL T
BRI FEAL D A LA H£3T A FH
(DABEFAEAEEZD? DFHFLEELF S IAY

() BARBBYA RZATA  5x4=20(A),
HR554 BETSA A

5r+55=35
{4%1”75:57
> )=4 $=3

13. B—4 & 112 Aot @BF 3 ik o
» B mEEF e R KA 3:4
éﬁ@%%%ﬂ"

__——“4 / —-‘é4
X ) § (12X

4814212
= 2 ": 5 2
12 144<cm)3% (67=2 é(cm>%

() Lx3+7x3

3t 231 B & 1Bl e Ty
FREEHMEES L

BT 7 14~19 &Aamth - b x:y:z
14, x: p=9:5 » przg=5:7 15. ®ip=4i3

X 7O AT PR
1
1

v y:iz=6:5
-2

= §ole5

=q 5] 2 4@
*

X

5 x|

8:6:5

07 UWUW\/__

2
d
*]

17. x:z=16:5 >

O(ﬁZ

HE

48:28+|8

15, ®iz=358
X+ Y+ Z

4 gﬁ'xﬁ
116 )4

| 6:28-24
Ko Z=l52R8-244

18. x:y=2:5 , y;z=3;§
X~>)-7-<,_:2-‘4\\ X:}:,Z:_C
X:jez /X‘\Y:Z

x:y=12:7
?(:jcz

=48 284/4]
R

y prz=T7:6

X3 =>
x4—>

19. piz=3:7 »

N | =

hd
5

jé“ ﬁ:Z y 5
Aysz 1535
-39,

- Z

7=Z§“R 4@2
Erer el | [
#

20. Zabc#0 > BH3a=4b > a:c=2:5> Ka:b:c=7
30= A:bsC
a 4')3 N a:b\\c
a:b=4+3 (4
5 :4_:5:[04;?
4: 5:[0

21. % xyz#0 » Bdx+y=x+3y > z:y=4:5> Kx:1y:2="?
N mmnsioeroin™

3Y=2y XY+ Z
/X:yaz:g D\B X*‘/\)" Z
[0+ 15+ 1% :/0“/5“/7‘7;\(
22. a:2b:3¢=5:8:21 K (1)a:b:ic=7
() e4a+3b-2c=36 Ka b cthfd
O g.b.c  ®AGSEE b4 CTY
_ 5.8 2 SrtR-|4F=36
= 6:4:7 )/-:/‘Z
D A=bo, b=48 c-84 «
23. % xyz#0 > %x=3y=2z v R
(1) x:y:z=2? (2) (x+y-2):(x-y+z) 8t
) Ly=3y KXV E RDAXA2) Yy 23
X=6) 6 ;L 3 (RH2P8hs(al-2r3p)
S -Y=62| Tz =llk=i3k ’
3927 Yz =103 D73
=) y: Z:Z:g ::/,2:2:5
24, #Z3:x:4=1:2:y > Blx=?y="?
—_— 2 B
5:%:[&{ 5:4—:’:y
~—_ ~—
K= 4 3y =%
— 7 _JE
R
2. —EFEEE - H8kA 4:2:5 kB 1025 K
NS T TR Neds &
BB Xem. r’))’cm 4>)>) ;‘;
[0 Y=4s Y= 2L
{:;((X;Arii% [ =) /oxEX'f
= O o = _ 3
26. % x:y:z=2:5:3" K B éZS(le/b\z

(1) Bx+2y+2):(2x+y+2z)&9tk{Ed
(2) Zx+y+z=150 > R(x+y-10):(y—z+5) &Jttf&

() A2 Y=L) =31
(6rtlort3p)s (4 +5r43F)

= [9F+ |2} () )+ Lp+aY=/bo
= [q‘ }‘Z, ;,':15

9 D X=30 Y=75. %= 45
i/;}_,_;g (30+’]5-{o) (’7£~45+5) /9

=05:35 =



